ACCOUNTANCY AND BUSINESS STATISTICS—II
Second Paper : 1. Functional Accounting

Time ; Three Hours Maximum Marks : 100
PART-I (OBJECTIVE) Maximum Marks : 40
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(i)  Give the journal entry of transfer from sales ledger to purchase ledger

under sectional balancing system.
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{it) Rishi keeps incomplete records of his transaction. On Lst April,
2014 his cash balance was T 20,000, debtors ¥ 30,000 and creditors
T 10,000. On 31st March, 2015 his cash balance was T 30,000,
debtors ¥ 25,000 and creditors € 20,000. Calculate profit or loss for
the year 2014-15.
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(1ii) What is Gross Investment in Leasc ? A
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{(iv} What is loss of stock in case of Fire Insurance Policy ?
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(v} Which act is applicable on hire-purchase transactions ?
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(vi} What is average capital employed ? 3iraa fafdifva sl s g 2
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(vil) Write the formula for computing value of right.
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{vii) Explain inter-departmental transfers.
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(ix) Explain Independent Branches. T3 ITET G9E |
(x) What is meant by cum-interest price ? =9 Higd Hed § &1 994 ¢ 7
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(1) A trader keeps incomplete records for his transaction. From the
following information calculate his total purchases and profit for
the year 2015 :

Opening stock T 20,000; Closing stock T 16,000; Cash sales
< 12,000; Credit sales T 72.000; Percentage of profit on purchase
price 20%.
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(1) Give four characteristics of sales on higher-purchase.
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(i1i) Calculate the value of goodwill by capitalisation of superprofit
from the following information :

(1) Average capital employed ¥ 4,00,000.

(2) Net trading profits of past four years : ¥ 71,000; ¥ 78.000:

. T 77,000; X 89,000 respectively.

(3) Normal rate of return in similar type of business is 11%.

(4) Net profits of first two years include the income from non-trade
investment ¥ 3,000.

(5) The fair remuneration of owner for his services ¥ 15,000 p.a.
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(1) siraa fafifsm 4 2 4.00,000.

(2) Toee 9R =6l & g =i & : 3 71,000; T 78,000; T77,000;
T4 T 89,000 FHHI: ¥ |

(3) THI UFR & =oUE H 9 YIS 1 1% |

(4) W Iul & ol d R-srafi fafani | e E 3,000 wEE £

(5) Tl % IuE! Al & fee sfaa wiafEs T 15,000 s £

(iv) There are three Departments viz. X, Y and Z in a business. The
pu:_'cham of these deptts. are 3,000 units, 6,000 units and 7,200
units respectively. Their sales are 3,060 units, 5,760 units and 7,488
units respectively. The closing stock of these deptis. are 300 units,
480 units and 18 units. Find out the opening stock in units in the
deptts. of X, Y and Z respectively. To R
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(v) 'What are the objects of keeping Investment Account ?
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Section-A ( EUS-31)

3. What is Self-Balancing System of Ledgers ? Give its working and state as

how it differs from sectional Balancing System of Ledgers. 5+5+10
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Mitali acquired a mine on lease from Anju for a period of 10 years at a
royalty of T 3 per ton of coal produced subject to a minimum rent of
¥ 4,500 for the first year increasing by ¥ 1,500 every year till T 15,000 per
annum in reached. Short working may be recouped out of excess workings
in the first four year only. The output during the first five years was as
follows :

Year Qutput (in Tons)
2011 500

2012 1,000
2013 2,250
2014 3,500
2015 5,000

While preparing the accounts of first four year Mitali decided not to carry
forward as an asset any short workings. In the second year ¥ 4,500 were
carried forward and in the third year T 3,000.

Prepare necessary accounts in the books of Mitali. 20
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2011 500
2012 1,000
2013 2,250
2014 3,500
2015 oS, 5,000
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Section-B ( @U2-9)

. Accounting year ends on 315t December, 2014 with turnover of  2,00,000.

Fire takes place on June 1, 2013. Period of interruption being 7 months
(from 1st June, 2015 to 1st Nov.. 2015). Period of indemnity according to
policy—6 months.

Net profit for 2014 T 12,000 and insured standing charges ¥ 24,000. Sum
insured ¥ 42,240, Uninsured standing charges ¥ 2,000; Standard turnover
Le. for corresponding months of interruption (from st June to Tst Nov.)
in the year preceding the fire. ¥ 75,000. Turnover in the perind of
interruption ¥ 22,500. Annual turnover (from 1st June, 2014 1o 31st May,
2015) ¥ 2,20,000. Additional expenses T 4,000 with a saving of insurad
standing charges ¥ 1,500. But for this additional expenditure, the turnover
after the fire would have been only T 12,500. The expenscs on putting the
fire out were ¥ 500. During 2015 increase in turnover (both standard and
annual) in expected to be 20% and increase in G.P. rate is expected by
2%. Calculate amount of claim for loss of profits. 20
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What do you understand by valuation on shares 7 Discuss the different
methods of valuation of shares with examples. 3+15
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- What is meant by Departmental Accounts ? Discuss various problems

arising during the preparation of Departmental Accounts. 3+15
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On April 1, 2014 there was an opening stock at branch of Z 30,000 (invoif.:.;.
price). During the year goods costing ¥ 45,000 were sent to branch. On
March 31, 2015 the branch reported that the cash sales during the year
amounted w ¥ 24,000, credit sales were of T 27,500. Goods invoiced at
T 600 were returned to head office and those invoiced at T 500 were lost
in transit. The credit customers also returned goods sent to them for T 900.
Record these transactions in the ledger of head office according to stock
and debtors method. The goods are invoiced to branch by adding to cost
25% profit on selling price. _ 20
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